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— @997 'A2 IRD MY MINN
An 290K is similar to a tree in three ways

OVERVIEW

The mwn teaches us that concerning three laws we treat the 270X as if it
were a tree and concerning one law we treat it as if it were a vegetable. >"w"
(citing the mwn in 0°M2°2) enumerates the three laws that MNXR is 1228 Mw
(which are *v27 ,727v and n°¥°2w) and in which law it is P7°2 MW (concerning
wyn). Our MdoIN will first discuss °v27 and then noyaw.

—*myawyy *sya499) Znvayh fo9uapa wase
“"'wn explained that 30K is 79°8% MW concerning 797¥ and »a7 and
NYYIAW. *"w1 continues that when we say that an 20K is 12°8% mw for N°Y°2w it means —
— %9959 NVYPY TN XYY )N AVIN NN 1PMIIDL 199917 “NIaY Pivst
That concerning nsysaw we follow the blossoming of the 210X fruit, as it
is by a tree, but we do not follow the harvesting of an 170X (concerning
1ts N°¥ W status) as it is by vegetables.

nvoIn asks:
- 7)1‘!5'\2'{: 29193 °¥297 YNRYUN NNYN 999NN NI

And if you will say; it now seems that the laws of >¥a9 apply to M nN,

since an M0 is treated like a tree concerning *va7 (for by a P2 there is no *¥217) -
— (N,NY 97 M293) 17929210 T8I W92 $5929 095 2 NN INNIY NINMD NYP 19 ON

" This is actually stated in the m1wn that 70K is NV AW ¥ 719797 12°K? M. The reason Moon cites *"wA
is on account of the end of his w17° that p7°2 70°P% N2 R’ 121 °yaw Pave7, which Mo will contest.

* The fruits of the first three years of a tree are considered 777¥ and are 7X372) 72°2%2 oK. This rule applies
to the fruits of an MNX tree as well.

? The fruits of the fourth year are to be eaten in 2921 (like *3w “wyn»). This applies to M7NK as well.

* There are certain restrictions on fruits that grow during the 0nw year. There are different rules for trees
and vegetables as to what is considered a n*y 2w fruit.

> The fruit of trees are considered n°v»aw M if they blossomed during the 7vnw year (from 73w wXA of
the seventh year up to i1"7 of the eighth year); regardless of when they were harvested.

% Vegetables are considered my>aw mo if they were harvested during the 7vnw year regardless of when
they first sprouted or blossomed.

7 mooin (seemingly) means to say it applies to 210X as well as to all other fruit bearing trees.

¥ There is a dispute there (between D°XM1X) concerning the n1iwn which discuss the laws of *y27. One 7"»
maintains that those nvawn should all read *va1 yv1 (a fourth year planting); indicating that the laws of *¥a1
apply to all fruit bearing trees; while the other 7"n (who says "¥27 075 "i1n) maintains that only grapes
(vineyards) are subject to *¥21; however all other trees (even though they are subject to the laws of 1777,
nevertheless they) are exempt from >v2a1.
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If this is so that °¥27 applies to 270X, there is a difficulty from this mwn
for the one who maintains in the beginning of °>92» 73> 75, that the

nvawn which discuss *v27 should read ¥29 292 (and not *ya1 yul) -
— MYIN INYA AN 'Y¥aY PRT ¥Vt

Which indicates that this 7" is of the opinion that the laws of >¥29 are not

applicable to other trees, but only for grapes. This is in contradiction to this mwn
which maintains that all trees (including the 217nX) are subject to the laws of *vya-.

ND0IN answers:
— 21T K8NT NI U5 5929 DI 9INP 2917 Y W
And one can say; that this is what the 7" who states °¥27 072 *In means;
wherever possible have the 71wn read sya= 29> -
— 99y 5159 Y Tanny s8m N1 NI
However where it is not possible to have the 71w»n read *v27 075 he does
not argue with this. This 7"» of *v21 073 accepts that there are n1°3wn» which maintain
Y37 Y01 -
— 9929 YVI NIN DIV 92D XDV 9999 0NN D9 NOT
For these two 7" do not argue there in N1272 '0n whether there is no Xin
who maintains sy29 pwi, for even the 7" who claims *¥27 073 *In agrees that there
are other 0°X1n who maintain >y27 yo1 -
— 0PN DIVA N>TNA ININT RNV RN MNINNT NINNN 92 NIvY
For perhaps (even) besides that m1w» of 390X which maintains >y27 yv1,
there is an explicit dispute elsewhere among the 2°8in whether we maintain
>Y37 073 or Y17 Yol

Mmoo continues to explain if all agree that there could be a 2°&in np17nn whether *v27 Y1
or °¥y27 072, so what is the ﬂPﬁﬂD between the two 7" whether °¥27 072 °1n or *¥27 yv1 1.
mooIn explains:

— PN2YT NV 59w qwyn noon NIOT MNYNN DINDY XN 1PHNI XD
And the dispute between these two 7" was only to define the vague nyw»

which are in the end of "1 “wy» noon and other places where there is no
indication if they maintain >¥27 272 or *y27 yv1 -
— Y29 YOI (x,n5 97 m592) 9207 NI N
Whether those n1iwn follow the view of the one who maintains Sya= yws -
—ND9YN JNDD Y19 5¥29 B9 (ow) 20T NP IN

? In our 73wn of 12°X2 mMw MK (for example) everyone agrees that this Xin maintains *y27 yo1.

12 Others amend this to 95.

"' The nmno at the end of w"y» are critical (since they are considered the main source of the laws of *¥27),
and are more important than other n1°1w» (including the 7wn ano of 12°X? W MINR).
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or whether they agree with the one who maintains 29 295. The dispute is
how to read those N1"1wn in order to know what the 71957 is.”

mooin offers an alternate approach:
— 2113 19297197 MNITIN INYA N7 P39 D99 INT IND 1DANT DIV W

And others explain that even the one who maintains "¥29 295 in admits

that 333977 the law of *v27 applies to all other trees -
— Pannm 132971 XM

And here in this 73w» where it states 12°X? M@ MINKR (concerning °¥27) it
means that 332977 the rules of >v27 apply to 0K (and MIPX WKW).

mMooIn continues that there are halachic ramifications depending on these two answers:
—93273 XMPOY 135 W

And there is a practical difference for us in this matter whether we accept the

first or second answer -
— 13297 99°9N DY *¥a PN YU JAN RPIT IPAY D99 2NT JNNT 29D INT

For if they argue (as the first answer maintains) even 112772, that the one
who maintains »a% 292 in, that °¥27 is specifically only by 072, however

by w1 there is no >y21 even 312972 -
— 1§RY NYIND IS NaYA BNIND 5D 5 (n,05p 47 naw) IIN)

Hence since the X113 states that whoever is more lenient in 5% 8 the

72917 is according to his view (at least) in Y8 5737 -
— INYINA 92 229 19T PN YINY D¥IN PYAY 19 ON)

Therefore nowadays in »"i1 there is no rule of "»29 concerning trees

(except for grapes) for we follow the view of the more lenient 7" that *¥27 073 °1n -
— PNYIN ANYA X117 1790 NNIDY NJID 192991 IN)

However if (we accept the answer of the 2°w75n > that) J2297% everyone

agrees that °va1 applies to all other trees then -
— 19297 M9 P¥a97 NIND NN TN NN

This ruling would be applicable in "1 as well that there is >v29 by all
trees (at least) Ja297.

12 Generally the 72977 is mwn onod. Therefore, each of these 7" insists that in those nNo NYIwn, the text
should read as they each maintain (either *¥27 075 or "¥21 yv1) respectively.

" According to the 2w W everyone agrees that there is *ya7 by mi»x qxw (at least 11277%). However
according to the previous answer the 7" of *¥27 072 maintains that even 112777 there is no °va1 by WX
nIPK.

4 The word "1%' here means that the difference if for us (the MmN *5¥2) who live in »"n. There is no
Xnpo1 for those who live in *"X (for they will [have to] follow the more stringent view).

' This means that he is 9P in the laws that Xn»7I877 pertain to *"X only (such as n°y>aw ,727v, etc.).

' In 9" these laws pertaining to ¥pap are only 132772 therefore we follow the more lenient view.
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Moo continues scrutinizing *"w7o:
— P95 NVIPY 9N KDY IPIND NVIN AN PITIN MYIAYT VIVNPA YAV NN

And that which >'"w9 explained the term n¥°3w in the 71wn to mean that
concerning an NNX we follow the blossoming (to determine if it is M7
N>y aw) as the rule is by other trees, and we do not go after the harvest as

by vegetables. This concludes the citation of >"w=°5. Ms0IN comments:

— T 5py5aw 193y APY 9N JIYIN 99927 W1V TINN YNUN
It appears from s""v" interpretation that by 9> we follow the time of its
harvest concerning its n>yeaw status.

mooin will pose a question on *"w7. It is based on a resolution by 0°01 " regarding a
contradiction between a mwn and a RXnM2 concerning nNYaw nod.  After the
contradiction and resolution are presented the question on >"w1 will become apparent. A
short introduction follows. There are various restrictions concerning produce which
grows on Ny aw. The fruits of N°¥°2w are to be used only for food and not for business
purposes. In addition, after there is no more food outdoors for the wild animals to eat, it is
forbidden to store any (considerable amount of) food in the house, but rather all nyaw
food must be made available to all. This is referred to as M¥°2; the time when this takes
place is called 7¥°27 a7, There is a dispute between ¥"7 and the 2°2d1 concerning
om0, According to ¥ the rules of n*y*aw applies XN XA to 200, while according
to the o"on it applies to 20 only 112777." The o°Xin distinguished between two types
of o°moo, namely 2°2173 *m00 and all other o°m*o0. All o°m°od grow from small to large®!
and at a relatively slow pace. 2172 on the other hand not only grows from small to large
but keeps adding new (outer) leaves (which were not there previously) and at a rather
rapid pace. This causes different rules for the two different types of o°1°50.

mooIN begins preparing his question on >"¥:

— 2195 512995 \IN PN DINYDN Y3 1IN Ux mwn 7o pa9) YXAY NIDNAT PTNY)
However w1 was not precise (in saying that by p71° we follow the P>
concerning n°y°av), for in mysaw noon the mwn teaches; ‘all the asmoe

are permitted except for 2195 51°98’; this concludes the mwn.
— NIDN 2 (3,5 97 0ono9) NIV DIPN PI92T ©0I 1929 AYPM

' This would seemingly mean that if it was harvested n°y>awa it is ny>aw M regardless if it (mostly)
grew N°ww31. Similarly if it was harvested N1 it is not N°¥" 2w M7’ even if it grew N°¥°awa.

'8 oo refer to uncultivated growth; produce that grows on its own and was not planted by a person. It
(usually) grows from seeds that fell on the earth during a previous (harvest) season.

' One may not harvest 2°mo0 as it states M¥PN XY 7% 150 NX; however there is no 77107 12 NOX to eat
2100. The Xn»MR71 MOX for N°y 2w M17'd would (seemingly) apply according to the 2311 (only) for fruits
of trees which require no annual planting. (See footnote # 35.)

2% 9y75 is usually translated as cabbage. It will be referred to here as 2113.

! The same vegetable (turnip, squash) grows from small to large.

4

TosfosInEnglish.com



20K 77 '01N 2,2 YR L7"02

And 2°01 19231 asked that in wmw 2p» P9 the Xn»92 there taught the
opposite (that all the 2°1°50 are MR except for 2113 1°00).

— 12951 DNYAVN DI NINPT NYYAY NIDNT NINNAYT NI
And 1" answered that the 71wn in nsyaw noen which states all 29990 are
PN -

— PPV 103V ZwaY 29y YV 05H90a 390
is referring to 2°7°o% from noy2w 39y that entered into NSYSaw. A majority
of their growth occurred before n°y°aw, but they were not harvested until after n°y>aw
began -

— 1NDY 9N Fpamm Pooww Sua 0n mHuwa 1219 19 1Y 11997
Since they grew mainly in the sixth year they are considered as sixth year
produce and are permitted to be used commercially; to sell them in the
marketplace. This applies to all 2’ro0 -
— DYV 1273 AINDY PN DNY 2999 NN N
Except for 2192 "m0, for they are forbidden to be traded according to
the n>y>2w rule -
—NY2aNY MYI2N NN IN
Or similarly they are forbidden to be eaten after the time of =91w°3. The
reason for the distinction between 217 °1°90 and 2’1790 IRY is -

— 2905 192 w1 193 1Y HYY 9190 AR D99 997 Pinburera 1swonts
Explained in 25219 7905 since by all vegetables you can distinguish
whether it is a new P2’ (in this case from n°¥°2w) or whether it is an old p~
(from nww).

— TN MnnN 519 1991 293 N%90 YaN

22 There is a 132771 17 that ("n°2 112) one should not plant (even) n°y»aw 27v from 110 onwards. These
vegetables were therefore n"ww *n°o0. They grew before 1" (after no9).

 This contradicts *"w7°; for even though they were harvested n"s>awa they are I, since NwWw3a 1217 172
See later in mMooIN.

* This is the view of w"9, the 050 however argue and maintain that all 250 (that grew 10121 NWwwa
nyoawh) are MoR. However, Moo maintains that their reason is (not because they go 1v°p? 7n2a but rather)
because we are 2172 11°50 R 01750 IRW .

¥ X" 1" ny aw. The explanation followed here is based on the 701 nmxy; others have differing views.

26 Each p7 grows from small to large as an individual p7°. In the present case where we are discussing 1’50
oy awh w1 nww, if in (the beginning of) n*aw the P is large we know that it grew on nmww, if it is
(very) small we know it grew on n°y aw. If for instance it takes forty days from the time of planting for a
certain 7" to mature fully, then if we see this plant fully grown on »wn X"> we know that most of the
growth took place in the sixth year and it is "nw. If however one would harvest this 73> on Wi n ™ then it
obviously grew mostly in n°¥°2w. There is no confusion. The n°¥°2w% W1 PWW *m°00 are M for they
cannot be confused with the n°y*2w *1°50 that grew mostly in n°y°2w.

7 The 2173 does not merely grow in size, but it keeps on adding new layers of leaves over the older layers
(in addition it also grows quickly). The older (inner) layers are called N7k and the newer (outer) layers are
called 7°%v.
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However 2192 1352 whose nature is to grow leaves upon leaves -
— Byawa 0951 00Y PYY U
And therefore there are leaves that grow during nsysaw -
—5NNPY MNNNN 19 NN PPINON )0V PYYN 1 NP> RPYI

And we are concerned that perhaps he will take from the outer leaves

which are forbidden and he will claim, ‘I took from the original leaves
that grew nww2a’. Therefore the 0°mon prohibited 2173 °°50 on N°¥°2w even those that
grew N°ww31 for there can be a confusion whether the leaves are from n>ww or N>y 2w. This
is the explanation of the 71w in N°y°2w.

In summation:

Concerning 2°150 which grew mostly nwwa and slightly nyawa (when they were
harvested); there is a difference between 2170 °7°90 (which are P0OR) and D750 IRW
(which are 7anmn). By 2n°90 Rw (where the p7° grows from small to large) we know
whether it grew mostly on nww (where it is Inn) or whether it grew mostly n°y>awa
(where it is 710K); therefore those that grew mostly on n°ww are PInn. However by 2112
which keeps adding new leaves (and the leaves which were added on n°¥°2w are 1710X)
and we cannot be sure whether the leaves are from nww or n°¥°aw (since they grow fast),
therefore the entire 2173 is 71ON.

Mmoo explains now the XN»92 in °1oo:
— DY9ON DINYADN DI MNP (ow) NNIY DIPNT NIND)

And that Xn>°72 in W 2197 P10 where it states 210K 279587 9> -
— N2y 297 NYNY Omryrava 19w BINaDAa Y99
Is discussing 21950 that grew on nsy>aw and that Xn> 12 follows the view
of ' -
— Z1a0IN 19571 Y1) XYY INNM 999 WITT
Who expounds on the 35109 of M1NRIAN DX ORI R Y11 KXY 37, which is

seemingly confusing for if we do not plant how can we harvest?!
— NINDY 19V Y91 199axY 1rax ¥ BINON 1AV BINYQDN Y 119Y NN

*¥ The leaves that grew on ny*aw are subject to the laws of ny*2w (concerning 7710 MK and 719°2X NOR
after the 71v°277 111). This M0°R applies to all n°y>2aw >7°50 (112777, according to the 0131 who argue with ¥"
who maintains that n°¥°2w °r°90 are XNMKRTH PIIOR).

* These leaves which grew on n*y"aw are 1"170K even if the 2175 as a whole grew mostly n°wwa. The leaves
of a 2175 grow quickly; therefore even in the beginning of n°y°aw, the new leaves can be very large and may
be mistakenly assumed that they grew before n'y"aw.

0 They are being harvested however in the eighth year (n°9°aw *Xxm2).

*! See footnote # 39 for the reason the Xn>12 is only according to ¥"1 and not the o°nan.

32 If the P10 says y11 XY then certainly there can be no 79°0X; why add the 'J1ox1 X217/

335,75 (772) ®pM. It reads 1INRIAN DX ORI K2 Y KD 77 NYOWT TIWA IR 71 1IRKN 1.

3* This explains the 710KX1 X71 even though there was no 7v>77; for it is forbidden to harvest (even) the o°17°90
to eat. This amplifies the question of 73X1 71 since we cannot even harvest the o°°50.
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However, explains ¥"7, the P09 teaches us concerning 2°1s® (which are
not ¥y711) that they are forbidden even to be eaten and certainly they are

forbidden to be traded -
- 35‘11”’311 My omp IPANY NHININTH NIY*aVa PNON ON*90T 9209

For y"7 maintains that 2°7°50 are "MoR during Xn»=TR72 nSyeaw and

even before that time of 21y92 -
— 17732 RED WY 2793 719299 MO nowray INInY INWN

And therefore since N ¥*aw "0 are XN™IIXTA TOX on N°Y°2w, when they
continue to grow onto N woaw XXM (the eighth year) they are forbidden to
be eaten j1397» until sufficient time passes after n°y°2w that similar sized

77 can be grown.
— ryraw NN DINON DINYAD INY 93 920D

And *v"1 maintains that all other 2> (besides 2173 1°00) are 2°MBER

on NOYOIW SR,
— ATYN NP3 13 NI PRY 2195 190 YaN

However concerning 292 51950 which is unique amongst all vegetables -
— NNY N9 XN CDIN00 INY DIVUN DHA 13991 NY

We do not make any nv9°13 on account of other 27920 for the difference is

apparent41 -
— “Za5pN) 1YW HY NID 391 THIANN 9TIY 09

It would seem that according to ¥" the concept of 12 is only for fruits and not for 0’90 (See footnote
# 19.) Perhaps n1v01n mentions this 17 of 0°7°50 to emphasize the &M of o150, which explains why ¥"9
was 7113 by n°¥°aw *n°50 which were n°¥°aw *X¥m? XXy (even if most of the growth was n°1nw2).

3 This is discussing a case where the 0’00 grew mostly in the eighth year, and slightly in the seventh year.
Tt is only 712772 MOX since most of the growth was nN°y>2w "X¥1 (and it was not harvested N’y aw3).

* There is concern that if we allow him to eat the 20 that grew mostly N°»w3a he may also eat from
2100 which he harvested on n°¥°aw (or from those that grew mostly on n°y*aw). This case is different from
2wy nww for there since he is harvesting it in the beginning of n'v»aw (see footnote # 26) it could not
have grown n°y°2w3a. The time is not sufficient. However here even if he is harvesting it when there is
sufficient time that a majority grew on N I'nw, however there is no guarantee that indeed it grew 11
nnwa, for it is possible he has leftover from that which he harvested on n°y°aw, or that 12171 grew on Ny aw
but he let it stay on the vine a little longer on n>rnw. Therefore we prohibit any *X¥¥% °01217 NY*aw *n°H0
Ny aw unless it was Wy W >732. (At that point [after "Wy 752] we are not concerned that he will take from
v aw, because since he can grow new produce the rule is X0°K 7381 X7°n°7 paw R2.)

** However according to the '»2n that the entire 2’50 MO°X on N°¥°aw is only 112777, there is no MO°X on
those 0°1°00 that were n°y°aw X2 WY for we do not make a 77°13% 771,

0 There is certainly no reason to prohibit the new small leaves for they grew entirely n°»»wa. The only
concern may be that if we permit 2173 *°50 we may permit other 0°17°50 as well. N19010 rejects this concept.
“ Previously mnoin stated (concerning 2113 *11°90 of n°v»aw? 101517 n*ww) that we cannot determine whether
(even) the mature leaves are from nww or n°y"2w for they grow fast. However here we are discussing 150
2775 from nraw? noyoaw, so even though there may be some large leaves that are either from n°3°aw or
n 1w (for they grow fast); however the small outer leaves are certainly from n°1»w and are nn.

2 All the larger leaves are prohibited for they may have grown on ny»aw.
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And that which grew initially is considered as n*ys2w and is forbidden -
— WY NPV INSIN DY RN 19N YN NOY N1

And those leaves that did not mature and are still small they certainly are
from nsys2w S8xm and are permitted -

— DYV INSINY 2199 N9V YINT WIIN 93D 1NT INMI)
So one who sees a person eating 2192 >r°9® after noyoaw -

— 0N%9D NN INY NNT DINQD INY D991Y INN XY
Will not cause him to eat other 29752 on Ny 2w XX for 112 00 are
different from the rest of the 2°1°o° -

— NYDIR DIUN NN 13998 N9

And it is not justified to prohibit permissible 2’1’50 because of prohibited
21°00. This concludes the explanation of 2°01 13°27 to reconcile the 71w» and the ¥n»92.

In Summation: The Xn>12 which states that 2172 °1°501 Y7 P0R 21907 22 is discussing
2°1°00 that mostly grew n°1»w3a and only partially n°¥»awa. The &n»12 follows the opinion
of ¥"9 that 2°50 are RNMRTA MOX in Ny awn nw, therefore by all other 250 which
started to grow on N°¥°2w they are 11277 70X for we may confuse them with n°y2w *roo.
However by 2170 "1°50 we permit only the new leaves which could not have grown on
Doy aw.

mooIn concludes with his question on >"w:
— 09792 2Y9 9Na NIN NVIPY 912 9992 U 199DIN NIT N YRV DIPN Yon

In any event it is evident from the explanation of 1", that concerning p=°
we do not consider the harvest to determine if it is D°v°2w N9, but rather

we consider when the majority of their growth took place. mooIn explains -
— DYV 1DV VY IV YWTN

since we permit (in the 71wn) the 2’20 of the sixth year which entered

and were harvested on the n¥’2w year. This proves that concerning p3° the
determining factor is when the majority growth took place and not when it was harvested.
This contradicts >"w7 that by 27> we follow the harvest to determine if it is n°¥°2aw M.

moon offers his interpretation:
— IOIR NT 32) NVIN 9N DIPN U1 NVIPY TN POTIN KIT NINNT 21T 97 U

And one can say; that granted that by p7° we do not follow the mwp®,

however we also do not follow the v -
— Y ammm 95972 MON NOIN YA NIN

* The small leaves grew entirely during the eighth year; there is no cause to prohibit them.
* Seemingly mooin is (obviously) referring to the majority growth; if the majority growth was Mo°Xa
everything is MOX and if the majority growth was 0’12 everything is 0.
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But rather the ruling by p7° is; whichever grew in the forbidden time
(during n°¥2w) is forbidden and whatever grew in the permitted time
(nww2) is permitted -

— 103N N2 2973V IPHINT 19N INYI NINN 13 PRY N
This differs from »9nX and other trees that we follow the muin

completely -
— DN 79 NN 957N HTHY N1 1PPIN YIDINI VIN ONY

For if the muin was 7%°R3, then even that which grew permissibly
afterwards in the eighth year is also T1®N.

mooIn concludes™
:%59175) 219 9N 1P9IN MNP NN INT IPIRY MY AW XYM

And now the 10X is similar to an 1R for it were like a P> we would
have followed the majority growth and not the 7v1n.

SUMMARY

Concerning °¥27 there is a npYonn whether it applies to all trees (°va1 yv1) or
only to grapes (°¥27 072). One opinion is that according to the *¥27 072 7"x,
there is no *¥27 for other trees even 7127772 (and therefore there will be no ¥v1
5"n2 °*va1). Another opinion is that everyone agrees that 131277 there is yu3
*¥27 (and therefore it will also apply to 2").

2’150 XYW which grew mostly n>ww2 and were harvested n°¥°aw31 are N0,
however 2170 150 are MOXR (because [even] the large [outer] leaves may be
from n°y2w). However if they started growing slightly n°v°awa and then
grew mostly and were harvested n°1’nw2, then [according to ¥"7] 21°90 IWRW
are 210X (because he may take from n°¥2w and claim they are n1nw);
however the small new leaves from 2172 °1°50 are 7N (since they must have
grown N°I°nw2).

THINKING IT OVER

* mpon (may be) anticipating a slight difficulty. It seems that the 73w is contrasting the 19°X and the 7 in
relationship to the 210X (in regards to nN°v»aw and “wyn). Concerning wyn we follow the 7v°p? like p° and
not the 7L as by an 17°X; however by nmv»aw it is the reverse we follow the nvin as by an 17°Kk and not
(presumably) the 7v°p? as by a 7. This would be a proper contrast. However now that o010 showed that
by P’ we go after 717°3 211 and not after 7v°p? (concerning n°y*aw), the contrast seems to be lacking.

* Even though it is not a complete contrast (see previous footnote), nevertheless the 370X is 19°X? 7w and
not to the p7.
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1. Tt is apparent from mo0In that 2°°50 (AXW) of Ny WINW Nww Mw if
nwwa 1217 1275 they are amn. Why is the part of the p7° which grew on
A neyaw?!t

2. mooIN proves that we do not go 7’2 7v°P% N2 from the fact that °r°oo
NPy aw? 0101w Nww are N (even though the mvph was Ny awa). Why does
not MdOIN prove it from the fact that N>y 2w >RXMY 10D N2V 1°DO are
710X even though they were n1mwa bphi?!*

47 See 25 MR 7.
8 See 7"nx footnote # 197.
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